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RED SWASTIKA SCHOOL 

2024 PRELIMINARY ASSESSMENT. 

MATHEMATICS 

PAPER 1 

Name: ____________ ( 

Class : Primary 6 I _______ _

Date : 16 August 2024 

15 Questions 
20 Marks 

BOOKLET A 

Duration of Paper 1 (Booklets A & B): 1 hour 

) 

1. Do not open this Booklet until you are told to do so.
2. Read carefully the instructions given at the beginning

of each part of the Booklet
3. Do not waste time. If a question is difficult for you,

go on to the next one.
4. Check your answers thoroughly and make sure you

attempt every question.
5. In this bookle'7 you should have the following:

(a) Page 1 to Page!
(b) Questions 1 to 15

6. You are not allowed to use a calculator.
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15 Rajoo formed a block and solid A using 1-cm wooden cubes.
He then painted all the faces of both solids. 

block front view 

,...____ 

soJid A 

side 
view 

(a) At most, how many solids A can be formed using the 1-cm cubes from the
block?

Ans: a} ___ -.-L-___ 

[21 

(b) Find the smallest number of 1-cm cubes that should be added to solid A so
that the new solid has the same front view and side view.

Ans:b) _______ [1] 

(c) Rajoo sorted all 1-cm cubes from the block and solid A according to the
number of faces painted. 
(i) Find the number of cube{ s) with no faces painted.

Ans: c)(i) ___ �-- [11 

(ii) Find the number of cube(s) with 3 faces painted.

Ans: c){ii) _______ [1] 

13 
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·17
. 3 Mrs Shirley had red ar19 ween apples for sale. 4 of the apples sold were red. 

2 �,r 3 She sold 240 red apples. She also sold 5 of .AiS" apples. 8 of the apples left
unsold were green. How many red apples did Mrs Shirley have for sale at first? 

Ans: ________ [3J 

16 

www.sgexam.com

www.sgexam.com



‭Booklet B (Paper 1)‬

‭Q16‬ ‭Q17‬

‭56‬

‭Q18‬ ‭Q19‬ ‭= 360° - 126° - 75° = 159°‬‭∠‬‭𝑥‬

‭Q20‬ ‭Area of the triangle‬
= ‭ ‬ ‭1‬

‭2‬ × ‭20‬‭ ‬ × ‭ ‬‭15‬

= ‭ ‬‭150‬‭ ‬‭𝑐𝑚‬‭2‬

‭Q21‬ ‭a) the name of the smallest‬
‭angle = d‬

‭b)‬ ‭b,‬ ‭c‬‭∠‬ ‭∠‬

‭Q22‬ ‭a) Ben paid $12‬

‭b) 4 units‬

‭Q23‬ ‭𝑐𝑎𝑡‬
‭𝑡𝑜𝑡𝑎𝑙‬ × ‭100%‬‭ ‬ = ‭ ‬ ‭20‬

‭20‬‭ ‬+‭ ‬‭23‬‭ ‬+‭ ‬‭7‬ × ‭100%

= ‭ ‬ ‭20‬
‭50‬ × ‭100%‬

‭= 40 %‬



‭Q24‬ ‭a)‬
‭y + y + 4 + 4‬
‭= 2y + 8 cm‬

‭b)‬
‭area=3y + (4 x y)‬
‭= 3y + 4y‬
‭= 7y‬

‭7y = 42‬
‭y = 42‬ ‭7‬÷
‭y = 6‬

‭Q25‬

‭Q26‬ ‭a) North-west‬

‭b) E‬

‭Q27‬

‭a = 180‬‭°‬ ‭- 99‬‭°‬ ‭- 60‬‭°‬ ‭= 21‬‭°‬‭∠‬

‭x = 60‬‭°‬ ‭- 21‬‭°‬‭- 21‬‭°‬ ‭= 18‬‭°‬‭∠‬

‭Q28‬ ‭a)‬

‭b)‬
‭Not a parallelogram‬

‭Q29‬

‭2u = $50-$12 = $38‬
‭1u = $38‬ ‭2 = $19‬÷

‭Q30‬ ‭a)‬ ‭b)‬



‭Paper 2‬

‭Q1‬ ‭a)‬
‭1P + 1F →$4‬
‭So, 10P + 10F → $40‬

‭10P + 12F → $46.60‬
‭2F → $46.60 - $40‬

‭= $6.60‬
‭1F → $6.60‬ ‭2‬÷

‭= $3.30‬
‭b)‬
‭1P + 1F →$4‬
‭1P → $4 - $3.30 = $0.70‬
‭3P → $0.70 x 3 = $2.10‬

‭1P + 1F →$4‬
‭12P + 12F → $4 x12 = $48‬
‭15P + 12F → $48 + $2.10‬
‭= $50.10‬

‭Q2‬ ‭A, D‬

‭Q3‬

‭S : M : L‬
‭2 ：7：15‬

‭5u = 35‬
‭1 u = 35‬ ‭5 = 7‬÷
‭10u = 7 x 10 = 70‬

‭Q4‬

‭Q5‬ ‭Q6‬ ‭a)‬
‭180‬−‭60‬−‭86‬

‭2‬ = ‭ ‬‭17°‬

‭b)‬
‭EFG =‬ ‭GEF =‬ ‭EGF = 60‬‭∠‬ ‭∠‬ ‭∠‬ ‭°‬
‭EKF = 180‬ ‭- 17‬ ‭- 60‬ ‭= 103‬‭∠‬ ‭°‬ ‭°‬ ‭°‬ ‭°‬
‭EKG= 180‬ ‭- 103‬ ‭= 77‬‭∠‬ ‭°‬ ‭°‬ ‭°‬

‭Q7‬ ‭a)‬
‭Kim → 2+ 3m-m = 2 +2m‬
‭4 + m + 2 + 3m + 2 + 2m‬
‭= 6m + 8‬

‭b)‬
‭6 x 12 + 8 = 72 + 8 =80‬

‭Q8‬ ‭a) 80 + 48 + 24 + 40 = 192‬
‭48‬

‭192‬ = ‭ ‬ ‭1‬
‭4‬

‭b)‬
‭A →  $0,55 x 80 = $44‬
‭O →  $0.7 x 48 = $33.6‬
‭P →  $2.2 x 24 = $52.8‬



‭M → $1.4 x 40 = $56‬

‭Type = Mango‬
‭Amount = $56‬

‭Q9‬

‭a)‬

‭b)‬
‭Total distance‬

‭= (18 x 10)+(72 x 20) + (30 x 50)‬
‭= 3120‬

‭c)‬

‭Q10‬ ‭a) 64 x 4 = 256‬

‭b)‬
‭Method 1‬

‭Method 2‬
‭Guess and check‬
‭Guess: 38 students at first‬
‭Total marks  → 38 x 81 = 3078‬
‭3078 - 256 = 2822‬
‭2822‬ ‭34 = 83‬÷

‭Q11‬ ‭a)‬

‭b)‬
‭No of G at first = 840 -210 =‬
‭630‬
‭Total added = 210 +240 = 450‬

‭450‬
‭630‬ × ‭100‬‭ ‬ ≈ ‭71‬. ‭40%‬

‭Q12‬

‭a) Ans: 52‬‭°‬

‭b) Ans: 116‬‭°‬

‭c)‬
‭(i) true‬
‭(ii) true‬
‭(iii) not possible to tell‬

‭Q13‬ ‭a)‬
‭Quantity‬ ‭Unit value‬
‭S:N:C           1S :1N   1S :1C‬
‭5 :7 :8             3: 1         4:1‬

‭12: 4       12:3‬

‭Q14‬ ‭a)‬
‭4r = 32, r = 8‬
‭d= 8x2 = 16‬



‭Total value‬
‭S:        N:       C       → T‬

‭(5x12): (7x 4): (8 x3)‬
‭60:      28:      24      → 112‬

‭Or 15: 7: 6‬

‭b)‬
‭60u - 24 y = 36 u‬
‭36u = 63‬
‭1u = 63‬ ‭36 = 1.75‬÷

‭112u = 1.75 x 112 = $196‬

‭(8 x 8 ) +‬( ‭3‬
‭4‬ × ‭3‬. ‭14‬‭ ‬ × ‭8‬ × ‭8‬)

‭= 64 + 150.72‬
‭= 214.72‬‭𝑐𝑚‬‭2‬

‭b)‬

(‭3‬ × ‭3‬
‭4‬ × ‭3‬. ‭14‬‭ ‬ × ‭16‬) + ‭8‬ + ‭8‬

‭= 113.04 + 16‬
‭= 129.04cm‬

‭Q15‬ ‭a) 6 x 3 x3 = 54‬
‭54‬ ‭7 = 7.7‬÷
‭Ans: 7‬

‭b) ans: 1‬

‭c)‬
‭(i) 4‬
‭(ii) (2 x 4 ) + 3 = 8 +3 = 11‬

‭Q16‬ ‭a)‬

‭b)‬

‭c)‬

‭=‬

‭d)‬

‭Q17‬




